U3D3 - per8-9 Solving Systems Graphically.notebook October 16, 2019

HW 3 - 2: Answers QUIZ TOMORROW!
4. x=1,y=2,z=-1

1. x=6,y=1
2. x=-2,y=-3,z=2 9 x=0,y=-3,7=5

3' X = 2’ y - 5’ = -1 WARM-UP: Complete with your
partner NOTES through standard

form of the equation of a cirvele

Aug 13-9:18 AM

Solve the following systems.

1, (5;-: +2y= 32}(‘&) 5!1 [j + 7 ? =AY v ““3\
_bxrbyz42 9y =7 {\ X=l g
-15% - oy ==Yl res = \f = j
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WY tloy = 4L / L

Aug 13-12:01 PM
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5(Y) 3x+2y-z=-11
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For the first twe examples, x + y = 6 and a second equation have been graphed for you.
Determine the solution for each system,
Co\'r\c(éo‘

)h.gl‘m--k_ S2 /“-'(“‘3"-5
i 7 ’i Answer

If you were to graph a circle and a line on the same set of axes,
how many solutions are possible? Sketch each possibility.

. O O/

How about a parabola and a line? Again, sketch each possibility.
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The standard form of an equation for acircle is: (x - h)? + (y - k)? = r?

Where the center is: CJ'\ . L) And the radius is:

=

\/\/\/W\—/\

Aug 13-10:58 AM

Graph the following system and state the selution,

(NY-Hyk o=
1 (x-2P+(y+3)=
center: 2 -

radius: E‘E=2
b)/ x-y=3 — -_1:~><+3

\v- K—B = =
. m- ‘9— w\st-(—b

Solution: - -~ 3
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Solve each of the 'Foliowlng systems graphically.
o
2, y=-2x+ 3 ,»"B (a
y = x* - 6x +37 -—-—-—'7 ‘Q_ 2P

xS

Solution: 2“1 5) fQ;)S

3 & 4. Find the solutions to the nearest tenth using your graphing calculator,

Include a sketch with labeled points of intersection and the window you used to

-ncluce a sxercn
see the graph with all paints of intersection. on 29% C‘gc,,_e,:(tr\

Xmax __JO Ymax __ 20

3. W5 553 | g b \
Y: -3x+7 (’2.‘5) 57)
>~ _
Solution: 23 3) 'SQ) (4>
g N
I min_—)0 __ Ymin_—10 v
e
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4._y= x3+3x%-3x-1 Zob‘”\(o

% y=3x+8 } ' )‘/2)
vy 147 2
Solution: - - - 'I -7), (2-/,/‘/33 (_’\ ) (, )

\*:gs;(min 19 Ymin__=(0 —
5 (3258 /
Xmax ___[O Ymax _ AN

e Lad-Frrace - S (1 nievrest) }
Jor 2alh 5 3 prints

Review mple’rmg‘rhe Squary. Set up. Do not solve. sz‘("bX“'L,
x?+4x=6 a,_
2
+%x+ Y 9\ =3=¢
=N

x+l)
———

Sep 6-8:51 PM
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Rewrite the equation of the g@y completing the square in both x and y. Describe and gr'aph

the circle represented by the equation. . — \>_ —
Oy v G O=> (B @Y=

5. x2+yi-4dx+2y+120 N “\

(5(—1314—/34-1 =9 | O

<

Center: (2.-1)

Radius: 2

Sep 6-8:51 PM

LN=-2Y=9 (A =)=y
6. xX°+y°-6x+4y-3:=0 XN & -

x MY \=3w T\ [
Loe Dy il

-y~ (y 2y =% SESEESENEANES

Center: _(3,=2-)

Radius: H

Sep 6-8:52 PM
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